molex

one company » a world of innovation

This document was generated on 04/05/2010

PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION

Product Specification PS-54478-001 (PDF)

Part Number: 0587830010
Status: Active
Description: HMC™ Rectangular Industrial Receptacle Shell Assembly, Single Module Type, For
Large Plug Cover, For Panel Mount and Wire-to-Wire, 52 Circuits
Documents:
Drawing (PDF RoHS Certificate of Compliance (PDF)

Agency Certification
CSA
UL

General
Product Family
Series
Application
Component Type
Product Name

Type

Physical

Boot Color

Circuits (Loaded)

Circuits (maximum)

Durability (mating cycles max)
Flammability

Gender

Lock to Mating Part

Material - Plating Mating
Number of Rows

Orientation

PCB Locator

Packaging Type

Panel Mount

Pitch - Mating Interface (in)
Pitch - Mating Interface (mm)
Pitch - Term. Interface (in)
Pitch - Term. Interface (mm)
Polarized to Mating Part
Ports

Surface Mount Compatible (SMC)
Temperature Range - Operating
Termination Interface: Style
Waterproof / Dustproof
Waterproof / Dustproof Type

Electrical

Current - Maximum per Contact
Shield Type

Shielded

Voltage - Maximum

Material Info

Reference - Drawing Numbers
Product Specification

LR19980
E29179

I/O Connectors

58783

Panel-Mount, Wire-to-Wire
Panel-Mount Bracket
HMC™

N/A

N/A

52

52

50
94V-0
Receptacle
Yes

n/a

4
Vertical
No

Bag
Screws
0.177 In
4.50 mm
0.177 In
4.50 mm
Yes

1

No
-40°C to +125°C
N/A

Yes
IP65

10A

Full Shield

Yes

300V DC (RMS)

PS-54478-001

Series
image - Reference only

EU RoHS

RoHS Compliant by
Exemption

REACH SVHC

Not Reviewed
Halogen-Free
Status

Not Reviewed

Need more information on product
environmental compliance?

China RoHS

Email productcompliance@molex.com
For a multiple part number RoHS Certificate of
Compliance, click here

Please visit the Contact Us section for any
non-product compliance questions.

Search Parts in this Series
58783Series

Mates With
58782-0010 Plug Shell Assembly

Use With

58474 Wire-to-Wire Covers, 58550 End Bell
Cap, 58455 End Bell Cap, 55347 Housing,
54478 Housing, 54296 Terminal, 55124
Terminal



http://www.molex.com/molex/products/datasheet.jsp?part=active/0587830010_IO_CONNECTORS.xml&channel=Products&Lang=en-US
http://www.molex.com/pdm_docs/sd/587830010_sd.pdf
http://www.molex.com/datasheets/rohspdf/0587830010_rohs.pdf
http://www.molex.com/pdm_docs/ps/PS-54478-001.pdf
http://www.molex.com/molex/products/listview.jsp?query=58783&sType=s
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/EU_RoHS.html#eurohs
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/china_RoHS.html#china
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/reach.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
mailto:productcompliance@molex.com
http://www.molex.com/molex/electrical_model/rohsCoC.jsp
http://www.molex.com/molex/contact/mxcontact.jsp?channel=Contact Us&channelId=-7
http://www.molex.com/molex/products/listview.jsp?query=58783&sType=s
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=p&query=0587820010
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58474
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58550
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=58455
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=55347
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=54478
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=54296
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=55124

| | Sales Drawing SD-58783-0010

This document was generated on 04/05/2010
PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION



SD-58783-0010

DWG. NO.

43

32

M
NOTES
" 1. ERN\IULT T YT
APPLICABLE HOUSING ASS’Y
10 1.5 55347-52+5 (52 CKTS. MAIL HS'G ASS’Y)
54478-52+5 (52 CKTS. FEMAIL HS'G ASS'Y)
2. EERQUMDMNITHILD « 5 ~6kgf -cm
# RECOMENDED SCREW TIGHTENING TORQUE :5~6kgfe. cm
= e
() v//@ — ! — g"aw 63 3 )N:’EL%zBfE’\CER:I%g@%RMINAL FOR GROUND |
g@ ‘ .(.]g FR BN 2D E OB | | B T 2 e
g:lll i IFg RING TERMINAL FOR POWER WIRE SIZE OR BIGGER ONE.
< lel Ilﬂ I e I‘1¢ /
5 L | )
n DELS _ 101.5+0. | N
5 ‘ a vor0,
@9 = ; = @/43 | =
<3% 7 O
& 2 A ° ‘ | °
\@ )\ S S | 27 *
S5 | 4-R5.0
94.5 ‘ 52.2 | N R 4 B B 1
) Lo
\ i 2 |
i 7 o

4-M3x0.5 \

HESE) SR LADUEIRUSER
RECOMMENDED PANEL OPENING

DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

S58783L I.DGN

(AREERHEAN TSI M3 X5) | gm — i) oyt
FREE DRIVE HEAD SCREWS WITH Y ELN 2
v S m%:( SPRING WASHERM3 _5) STEEL, NTPLATING
@ eZIoL =SB BRIL :
RECEPTACLE RUBBER B SYNTHETIC RUBBER
® — 25 L2 >
33.5 \. SLEEVE STAINLESS STEEL
‘ L OvoEy 2T LA
® ® JRE?F%@LE LOCK/I% PIN STAINLESS STEEL 2 |58783-0010
@ 9Ol S A SEIL ‘
PEYv—T=% RECEPTACLE RUBBER A SYNTHETIC RUBBER —
PE MARK IDENTIFICATION 3 BER (M2.5 X 4) i, —vTILXAYE |,
SCREW_(M2.5 X 4) STEEL, NIPLATING
@ e J9o)L JZ5 K gfzj/L i, — LAY o
RECEPTACLE GROUND TERMINAL BRASS, Ni PLATING
D U790l STl PILS"OLEE |
RECEPTACLE SHELL ALUMINIUM ALLOY
S o et e B HRES
NO. PARTS NAME MATERIAL QUAN,  ENG. NO.
it o n@ MOLEX-JAPAN CO.,LTD.
B R CleXBrEL Yy 72 nR AN
Pi‘NJl:Sl'_"f REVISE ONLY ON CAD SYSTEM
FRSEEE TITLE &K
INIY Y TBATIE— PR ANGLE |- VR R —— ROBOT CONN.
POLARIZATIONS KEY FOR HOUSING 305k 0.3 BAE REC. SHELL ASS’Y
D & INS. RANGE —
1055k 30 B | 05 S e (LARGE)
10 e we | |92, sy M swver| \J Mgy — os DWG. NO. (SHETT 1 0OF 2)|REV
— FAPP" RE - -
ceneral vaicRances | LTR | REVISION HECORD | e, DAL #\‘%}.@5 scale |- SD-58783-0010 0
THIS DRAWING CONTAINS INFORMATION THAT IS PRDPRIETA‘!{V TO”MG.EX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

FEEEEFEL VIR () OFBIDEBWESLENT UHOFTLKHEBEELT D, EN-Q IC(@32)MXJ-32
T 6 5 4 3 ‘ 2 |



SD-58783-00 10

DWG. NO.

DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

MALE HS'G ASS’Y (52 CKTS.) FEMALE HS'G ASS'Y (52 CKTS,)

55347-5215 (TYPE A) 54478-5215 (TYPE A)
A SIS ALY, A A A T,

’l/@ - j? @Jé\
4 ) ¢
I i CODORO00000 M;E
= i 'ig 5000000000000 I.'F]g
7 2 e T N E— ‘
& ©) ©)

|
”

(18.2)
3—4,\;
o

S58783L2.DGN

AMILINDD T 7yt T EERER DAAXAINDDI T 7 vy I EFRER
FIGURE OF MALE HOUSING ASS’Y WHEN ASSEMBLED FIGURE OF FEMALE HOUSING ASS’Y WHEN ASSEMBLED
4 A /~ ™\ MOLEX-JAPAN CO.,LTD.
SEE SHEET 1 0OF 2 mOIGXEKEL'y’JRHiEﬁ?i —
\_/
[
FENJ[:S’_"I REVISE ONLY ON CAD SYSTEM
SR EEE TITLE &#
%E{;NGLE 130 WIRE RANGE —H— ROBOT CONN.
304 0.3 7 REC. SHELL ASS’Y
f\v 3] %S’F\?XN%E
10 §iek 30 Fighh | 022 S s a— (LARGE)
10 asg& 0.2 SEE SHEET |1 OF 2 \S‘W ?ﬂ& DWG. NO. (SHETT 2 OF 2)REV
— T PP’ RE - -
crciaPhAdices | Toe | mevieiot Recom |t B | e | StRe || SD-58783-0010 | @
THIS DRAWING CONTAINS INFORMATION THAT IS PGDPMETA%V TO”MG.EX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

FEEEBFEL VIR () OFBIBEBMESLENT UHOF T EBEZELT D, EN-Q IC(032)MXJ-32
8 7 6 5 4 3 ‘ 2 |



